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No5RID 917 KD KD ORI NHRID N7 RV WY VT NRIKR - If you
say; that if it has a height of ten o°nov, then it is a nvo»73, and if
not it is not a nN¥»n">

Overview

nww 21 said concerning a n°9»73 that: "7wy v nooIM". The X mx asks does
he mean that: "n*2175 "7 R? XY R 19073 177 X7 7wy 797", The Xm) goes
on to refute this XX M7 from a statement by 773 21.

This Mmoo will be discussing the vwd of "w7 and the "7 about this M7
NI7AN.

973 NEPYAT VP2 1A O''wn wash — >'"'w explained; what is meant by — “if it
has a height of ten 2°ndv it is a n°71n13”, this refers to a fenced-in field
29°NXe N°2 Y¥ ;77°n° X°71 — which is larger than a '2»nxe nsa

7972 Pt 89 — and in was not fenced-in for residential use, therefore it has
the 17 of a N°91n12, in the sense that you may not carry there more than nnR 7. This was
the 2R1nR M.

N7 757 MW K77 prxd woa% wpy — The o' has a difficulty with s™"wn
explanation of what we thought a n°>»13 is, for this which *"" claims is a
n°on73, in reality it is a "'

"W 2% 172 X91pY 192 — whether we follow the interpretation of X1 or of 21
WX in the previous (2,1) X3, nevertheless they both agree that this is a >
5793 271 MINRY R T 89 — and it would not have been necessary to

quote ®793 29 in order to refute this assumption’, because we know it already from X>w
WR M

nYRNS RO R KD ORY 8P 92977 7 — and furthermore — there is another
difficulty with s™"w" explanation — how does the X723 say: “and if it does
not have ten 2°19Y it is not a NY»»7>, how can we say this —

mxomn 32 PR P @Y - for a mwpaY 20 which are specifically

mentioned in the Xn>>12 as example of a N°9172, and they have no partitions
surrounding them!

' A 71%0 "2 is an area the size of 50 by 50 N, a D»NX0 N2 is two AXO M*2 or 100 by 50 mn»x. This was the
area of the Jownr xn.

2"y is well aware that RIponY this is a XN IRT "'70.

? Even if we will say that in the X»X M7 we may have thought that it is a n°27, but the X3 should have
refuted this from the opinions of *wX 271 X?W who are discussing this same situation of a n*an any 9P
0»nKO, and they say that it is a Xn»™MR7 "0,

Furthermore from s™7°3 27 statement we are refuting only what we deduce from nww 27 (that if it is not ten
it is not a N°o173), not his actual statement, it would be therefore better to quote >w& 271 R to refute the
basic statement of nww 27, that n°7115 "7 7wy 7Y (in the way we understand it now); that this is not so, for
itis a>"an.
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W95 7T PRNY 12T IR — and it seems to the "9 that this is how we
should interpret this statement:

"> Mo ROORT 7Y X29R — “If you say that if it has partitions of ten onov”,
means; not if it actually has partitions, for then it would be a >"777, but rather —

TIWY nXORb MINTT %N 1907 — it means that if there is sufficient air space
to erect partitions ten o°nov high, only then is it a m7373,

POTNP 23 DY SR N2 Noown PP PIRY — it comes to exclude a field
that is covered with a roof lower than ten 2190 from the ground and the
roof is supported by posts.

S TTIAR PRT 1102 no9nnD M 897 — for this is not a nvvn»a3, since it is not ten

o1ov high, meaning that it does not allow us to erect » m¥’m» because the roof
interferes.

Y2122 Dubub N MU 23pR MM — and this area is considered a MWD 2R

and it is permissible to carry in the entire area. To this the X7»3 replies; how
can you say this —

912 9793 29 R — did not 773 27 say etc. that inside a house, which is less than
ten 0°1dY high, one may not carry in the house more than m»nX '7, so we see that even in
an area where one cannot erect > mx°n» it can still be a n>917.

Summary
"7 interprets N1 M7 X WY 77 in its literal sense that it has > nxonn

(and it is more than a 0»nX0 n°2), and if not, it is not a N°9»7>.

mooIn asks on "M that to refute this X" we should have quoted 271 R9W
WX, who maintain that a 121 2°NR0 N°271 N 79P 1s a RN™IRT *"'77. And also
the Xn»92 states clearly that a 7¥p21 0° are a N°%1n12, and they have no mx .
mMoon explains that 131 77wy 7v7 means that it is possible to erect " mMxnn,
and if not, it is a MWD DPnH.

Thinking it over
1. mvoIn asks two questions on *"w1. Point out the relative strengths of each
question (and the order of the questions)?

2. Why is it necessary in the °"1 v17°0 to say that it was A"¥ 1 nnd2 n3310n
10712, the 17 would seemingly be the same if it was 1"V "1 nwva nd310M
2n15?



